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Question: 1 
 

 

Which two actions are used to permanently configure a new interface? 
 

A. dladm set-linkprop mtu=1500 net2 

B. ipadm create-addr --T static --a 10.2.3.5/24 net2/v4static 

C. ipadm create-addr --a local=2ff0::f3ad/64 --T static --t net2/v6dhcp 

D. ipadm create-ip net2 
 

Answer: B, D 
 

  Question: 2  
 

What does the 'R' signify in this output when using the new zfs diff command? 

 

A. The file or directory is modified or the file or directory link has been changed 

B. The file or directory is present in the older snapshot but not in the newer snapshot. 

C. The file or directory is present in the newer snapshot but not in the older snapshot 

D. The file or directory has been renamed. 

E. The file or directory has been removed. 

 

Answer: D 
 

Question: 3 
 

 
Virtualization of physical hosts to Oracle Solaris Zones is aided by . 

 

A. Network Auto-Magic 

B. Pre-flight checker 

C. Live Media 

D. Automated Install 

E. Copy -on-write 
 

Answer: E 
 

Question: 4 
 

 

In planning a system's initial configuration, you realize that you may not have disk space to 

complete an installation that contains all of Oracle Solaris 11 software. Which installation 

method would be your safest bet to begin the interactive installation process? 

A. Automated installer www.neodumps.com
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B. Text based installer 

C. LiveMedia, or LiveDVD image 

D. Distribution constructor 

E. USB-based installer 
 

Answer: C 
 

 

  Question: 5  
 

You have just completed a default Oracle Solaris 11 installation of a new server system. While 

testing network connectivity from your desktop to the server, you find that you are not able to 

communicate with the 'sendmail' service from your desktop. Why is this? 

A. By default, the 'sendmail' software is not installed. 

B. By default, 'sendmail' is not enabled on the system. 

C. By default, 'sendmail'' access is blocked by TCP Wrappers. 

D. By default, 'sendmail' responds to local requests only. 

E. By default, 'sendmail' is running on its encrypted port. 

Answer: D 
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